Soustraction (D)

Calculez la différence.

196 251 453 905
—49 =10 =54 =93
526 933 406 397
-34 =33 =92 =190
335 780 337 539
47 =37 =50 =169
173 993 406 656
—63 =29 =59 =53
233 582 269 958
—60 =18 =13 =091
859 483 257 371
=57 =17 =49 =35
852 263 872 205
=56 =78 =16 =288
292 577 284 595
=10 =58 =25 =26
370 514 678 929
=83 =29 =11 =21
178 921 955 542
-5l =42 =79 =13

196 816 272 259 203 705
-24 =18 =30 =47 =26 =32
407 400 494 228 630 510
-18 =20 =97 =56 =79 =18
870 623 061 772 726 395
-9 =99 =29 =62 =58 =96
388 489 984 700 258 710
=97 =96 =63 =84 =33 =33
451 210 852 815 659 630
-7 =9 =31 =14 =68 =46
532 47 778 624 803 929
-8 =25 =91 =15 =57 =5l
H71 764 190 606 142 761
-9% =19 =70 =98 =17 =88
936 804 569 727 309 369
-—34 =45 =84 =79 =94 =13
530 310 672 897 854 447
=32 =5 =62 =59 =12 =23
833 996 410 192 311 313
-1 =76 =51 =32 =52 =13
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